
ATLAS SCT Module Response Curve  -  ABCD2T  -  Linear fit

Run 1493   Scans 3 - 18   Charges 0.00 - 3.00 fC   Module 0   Stream 0
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Response Curve chip 0 p0       = 101.9 +- 4.825 

p1       = 49.24 +- 2.179 

Response Curve chip 0 p0       = 101.9 +- 4.825 

p1       = 49.24 +- 2.179 
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Response Curve chip 1 p0       =   103 +- 4.749 

p1       = 49.83 +- 2.077 

Response Curve chip 1 p0       =   103 +- 4.749 

p1       = 49.83 +- 2.077 
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Response Curve chip 2 p0       = 98.36 +- 4.307 

p1       = 52.21 +-  1.96 

Response Curve chip 2 p0       = 98.36 +- 4.307 

p1       = 52.21 +-  1.96 
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Response Curve chip 3 p0       = 97.98 +- 5.011 

p1       = 52.45 +- 2.274 

Response Curve chip 3 p0       = 97.98 +- 5.011 

p1       = 52.45 +- 2.274 
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Response Curve chip 4 p0       = 104.3 +- 3.558 

p1       = 49.41 +-  1.64 

Response Curve chip 4 p0       = 104.3 +- 3.558 

p1       = 49.41 +-  1.64 
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Response Curve chip 5 p0       = 105.3 +- 4.537 

p1       = 49.07 +- 1.987 

Response Curve chip 5 p0       = 105.3 +- 4.537 

p1       = 49.07 +- 1.987 

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 0Gain chip 0

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 1Gain chip 1

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 2Gain chip 2

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 3Gain chip 3

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 4Gain chip 4

Q (fC)
0 1 2 3 4 5 6 7 8

G
ai

n 
(m

V
/fC

)

0

10

20

30

40

50

60

70

80

90

100
Gain chip 5Gain chip 5

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 0Output Noise chip 0

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 1Output Noise chip 1

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 2Output Noise chip 2

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 3Output Noise chip 3

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 4Output Noise chip 4

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

m
V

)

0

2

4

6

8

10

12

14

16

18

20
Output Noise chip 5Output Noise chip 5

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 0Input Noise chip 0

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 1Input Noise chip 1

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 2Input Noise chip 2

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 3Input Noise chip 3

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 4Input Noise chip 4

Q (fC)
0 1 2 3 4 5 6 7 8

N
oi

se
 (

E
N

C
)

0

200

400

600

800

1000

1200

1400

1600

1800
Input Noise chip 5Input Noise chip 5


